1)

2)

3)

4)

5)

6)

Which of the following is not a cloud stakeholder?
a) Cloud providers

b) Clients

c) End users

d) Cloud users

Ans: b

Cloud Computing is a paradigm of to provide the customers on-
demand, utility-based computing service.

a) Distributed computing

b) Undistributed Computing
c) Centralized Computing
d) Central Computing

Ans : a

Which of the following is not a type of cloud?
a) Private

b) Public

c) Protected

d) Hybrid

Ans: ¢

The architecture used to build the most of the cloud architecture is

a) skeleton
b) grid

c) linear

d) template
ans:b

Which of the architectural layer is used as front end in cloud Computing.?
a) Cloud
b) Operating System
c) Soft
d) Client
Ans : d

The computing refers to applications and services that run on a distributed network

using virtualized resources is
a) Distributed
b) Cloud



7)

Ans:c

8)

9)

c) Soft
d) Parallel

Ans:b

Which of the following is an essential concept related to Cloud?
a) Reliability

b) Productivity

c) Abstraction

d) Communication

Which of the following cloud concepts is related to pooling and sharing of resources?
a)Virtualization

b) Abstraction

c) Polymorphism

d) Distribution

Ans : a

Which of the following can be identified as cloud?
a) Web Applications

b) Intranet

c¢) Hadoop

d) Standalone Application

Ans:c

10) Which of the following is Cloud Platform by Amazon?

1)

a) Azure
b) AWS
c) Cloudera
d) Hyper-V

Ans:b
virtualization off-loads processing to a remote computer, and focuses on visual
elements.

a) Network

b) Storage

c) Presentation

d) Server



12) An operating system running on a Type __ VM is a full virtualization.
a) 1
b) 2
c) 3
d 4
Ans: a

13) Which one of the following is a CPU emulator and virtual machine monitor.
a) Imaging
b) Parallels
c) QEMU
d) CPU-Main

Ans:c

14) Which of these techniques is vital for creating cloud-computing centers?
a) Virtualization
b) Transubstantiation
c) Cannibalization
d) Insubordination
Ans : a

15) Which of the following is one of the major categories of Amazon Machine Instances
that you can create on the Amazon Web Service ?

a) WAMP
b) XAMPP
c) LAMP
d) AMP
Ans:c
16)Ina scheme, the VM is installed as a Type 1 Hypervisor directly onto

the hardware.

A. paravirtualization

B. full virtualization

C. emulation

D. Partial Virtualization

Ans:b

17) Hypervisor runs at the top of hardware.
a) Type - |
b) Type - Il
c) Type - I
d) Type — IV
Ans:a



18) In virtualization where an array of servers that are managed by a virtual storage
system is
a) Application Virtualization
b) Desktop Virtualization
c¢) Network Virtualization
d) Storage Virtualization
Ans :d

19) Which of the following is another name for system virtual machine ?

a) hardware virtual machine

b) software virtual machine

c) real machine

d) computer machine
Ans : a

20) Which open stack’s component is called as a swift?
a) Image Service
b) Dashboard
c) Object Store
d) Identity

Ans: c



